aonw 7"7 '0M X,71 PeTp L7"02

— DYV NDNXRN VAW
He slaughtered it and it was found to be a Treifoh

Overview

13m° " challenged %" from a mwn regarding ¥y7%¥n *M5°¢, which states that if the
slaughtered bird was found to be a 715>, he should take another bird for fu°nw and
the first bird (the 79°7v) is %172 N, However according to 2" that the birds are
7RI POXR from anoph nyw, why is the IRIT2 NN 19, since it was already
TPP? NYwn aRIn2 a7oX. There are two ways to understand this question (on 2")
and the subsequent answer.!

- DYNN APV 1D NOINYA NSIVIY NNYIMI PHPDA PTAWI PHYT XPYD NPT DI0NP UM
»'"wn explained® that we initially assumed that the way it was a 7190 is that when he
checked the 7220 it was found to become ‘treif*® through the s mw, for instance

the esophagus was perforated -
- DINNIDY 2NAY TV KY 5715939 1901 IN 01D 2P 1N NIPIYN N9V INT

For if it was 7199w before the musnw, for instance the [brain membrane] was
perforated, or her feet were cut off, it is not appropriate to teach that it ‘was

found’ to be a 79"0; those types of v can be discerned even before the v nw.°
=191 1950 NAY YDIN 912195 ANINA NN INNN NI TINDT 139

And this is what the X923 asks, ‘why is the 78272 nanw 75°70°, meaning, where

did its original 1X177 MR from 7°P? NYW go away to, since it became a TwMw NYw1 79!
- ALY DNPN RIN 7NVINY NYWA SN XYY DI¥N 2323 NIV NNYNIY 3IYUNM)

! The answer is that if the 119°% was a 190 before the 7n°pY, it was never fit for ¥y17¥» 11978, so even according to
5"9 it was never fiR172 70X

2 pxyan a"7a.

3 There are two 1°12°0, the 1P (the trachea) and the vun (the esophagus). By a bird one needs to cut at least more than
one half of one of the 11n°0. However if he perforated the v during v nw (and did not cut the majority of the vwn)
the 7w is a 19 (for the rule is Mwn2 LW N2P1 [as opposed to the 7P which requires it to be cut more than half
(while it was alive) in order to become a 179°70]).

4 The n"27 MAxT amends this to read, W 7 5w o17p (instead of X 217R).

5 If 7901 would mean those types of m97v (like 7°231 1307, ete.) there would be no question on 7" since the Mo
was a 1970 before P2 nyw (see footnote # 1). However at this point the X113 assumed that it can only be referring
to a nYINW NYWw2 1970, for only then is it appropriate to use the term 'nXxn1'; it was found to be a 775 v now, not a
190 from before.

% One can discern m» 5w 017 2P even while the bird is alive by sticking a finger into the mouth and pressing
upwards on the pallet; if mv 5w o1p 2771 the upward pushing will cause a cavity in the upper pallet. [3°737 12nm1 is
obviously evident before v nw.]

7 The n"277 M7 amends this to read, 07Pn 891 7w (instead of DTPR K2R VNW).
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And the X ) answered that it was found to be a 71970 in the intestines, so the

M5v did not occur at the time of the 7w MW, not prior to the WY, but rather it
(may have) occurred before the nn°ph. Therefore it was never qualified for ymxn 0%,

Mmoo responds to an anticipated difficulty (on *"wn9):8
= IPVINY ONPY INIY MOV NY PN NN INT D91 2337 MOV NY Y 91

And it is because of the following reason that the X732 established it in a case of
mpaw of the intestines, for if the X723 would have established it by n1239% on the

outside of the animal and before v -
- 1990 VMY RN NN 7Y 99 M NY

The Rin of that 771w» would not have referred to it a 'nxx»1' (it was found out) to

be a 11970, but rather he would have phrased it as 79w W, since it is noticeable

that it is a 779"0 -
= INDY 1IN 29NV 1INNRYNI 999YW NP YN 2T MOV VAN

However by intestinal n29v it can properly be referred to as nxx»1, for at the

time of 7wV W the NMo7v was not visible. This is the explanation of the X7»3 according to
MwA.

mooin asks:
= ANPHN NN N2 MOIVN RNY PPTN I1APIY NIV NNENI 99) 95 NYPY

And there is a difficulty with >"w"5, for even if the found 71239% was that the

intestines were perforated, perhaps this n129v happened after the taking of the
birds -
= P90 HSONN NHIMN INNN 12 ON)

In which case why is the nanm 719°7v; she should be 7X372 791K for there is a
?DY that it may have become a 119°7v after the P, so the question remains 777 1277 72w MOR?!

mooin offers his interpretation:
= PPN IAPIY NN NIV NINENI VMY PHYT XPHD RIPIYNT 99D NN 199

Therefore it is preferable to say that initially we assume that 77290 nNx»Y vmw
means for instance where the intestines were perforated -

8 Why did not the X3 say that it was a 7970 long before the amp», like 931 12nm, etc. See ‘Thinking it over’.

9 Presumably Ms0I1n means before amp? (only that would make it n2nm), but not merely v nw amp.

19 The most acceptable interpretation of 7970 nx¥AN VMW would be a 719w which happened v nw nywa (for then it
was nR¥n1 after 7u°nw), this was the view of *"1 who asked from this 71wn on 5"9. However "1 answered that we can
use the term nX¥N1 even for o>vn 2127 MY, for even though it was a 779w from before the nunw, nevertheless from
our perspective it can be called nX¥»1 since we had no knowledge of the n197v till after the v nw. Everyone agrees
that we cannot use the term nX¥n1 if it was a Y mow like 7937 100ma.
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= 1190 NNYPY 9NN NNPY NN INNIN 79999
So "1 asks, why is the nanm 79 70, perhaps the perforation happened after the

71999 and it should be poon 7oK, for T2 1977 72w MO°K -
$199991I 19N INTIV HINK MOV IN 1290 HVNY 19293 B’y )22 NIV HNNNIVY NIV

And the X713 answered that a 72°9v was found in her internal organs, for
instance the liver was removed or other similar types of no=v which certainly
happened from when the bird was born.

Summary
According to "w1 the question assumed that it was a 7v nw nywa nmo°w, and the

answer that it was a 0>¥yn °122 mM97v which (most probably) occurred before mpb.
According to Moo the question was even if it was a 1’272 NM97v it should be 7OX
poon, for perhaps it was after the 7P, and the answer is that it was a 179°70 which
certainly took place T21wn..

Thinking it over

mooIN explains (according to *"wM), why we assumed it was not 7722 moav.!! Why
was this explanation necessary, when "1 states this clearly and nwoin cited this
""w1 already here!? in this mooIN?!

' See footnote # 8.
12 See text by footnote # 4.
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